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1 ~ {c) Morethanonce
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Probabitity of any one sample of size n beiNg drawn
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(@) Faa 71 an
() 7% ¥ A4F an
(37) Tmmk | § &G A2

in SRS with replacement, the same sampling unit may
be included in the sample.

(@) Onlyonce (b) Only twice

(d) None of the above
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(4)

A
= —1\7 is called by :

(@) Crossweight

(b) Sampling fraction

(c) F-test

(d) None of the above
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value of I'(n)I{(1-n}is -
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o qz=x2+ v+ 2 6 aErad R § -
dx dy 4
(31) T 2
X ] di/ - IS Ve -
@ e y2+z°
dx dy 4z
(%) Z -z x%4 vyl 2f
dx dy _ dz
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Subsidiary equation of (p — @)z = x% + y 4 72 5 -

dx dy dz
@ T
dx dy _ dz
T R R
dx dy dz
© 7 A
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2r + 5s + 2t = 0 BT WERP FHIHR07 § -

(31) 2m2+5m+2=0 (3) 2m-5m 42

(W) 2m?-5m-2=0 (3) ?Frffﬁaﬁ—gq-&;f
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What do you understand by Desert? Write the factors that
affects the desertificano

Sra-fafdeuar & @y forfae @ Sra-fafdasn & 29 &
FRUy ffRay)

Explain the threats of Biodiversity and reasons of loss of
Biodiversity.

31ar /OR
sta-fafduar @t afifie ev 3% gedf @ SEEIE

Define biodiversity and explam the valye.
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Justify the relation between -
&n popula ,
loss of environment. pulation growth and quality

391/ OR

How does air Pollution effects the human health?
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Describe the functions or productivity of ecosystem.

Q.i1. ¥RA H UR ST arel \EE a1 Rager S
Give the detail of common plants found in India.
3a1/OR
g Ft TR F TR § AR A FeEn)

Describe abhout "Rivers of India".
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